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< AKE G e T X
B oA (M) T % M # (M) HEBMYEE (1)
YRR KA 6,140,880 5,686,000 (A) 454,880
AL U e i 6,388,200 5,915,000 (B) 473,200
HHIRE AR 6,058,800 5,610,000 (C) 448,800
EHEASKE 6,301,800 (F) 5,835,000 (D) 466,800 (E)
HEJRRA 243,000 225,000 18,000
(FHH)  (B)X(C)+(A)=(D) < D) FTHIED - LT >

(D) X0. 08= (E)
(D) + (E) = (F)




& MEMHEEER MM LREISE No. 1
RETZE EAT RETERR s
= L & = 34 11 3 & ié;i =
wmoO= T TINNT 24 g M B e | EIHEE WE
[EREZAR %
| #BETH = 2,790,348 = 2,807,348 17,000 |H#4%E
| EXGETHF = 344,212 = 344,212 0
I BhEk (s L X 781,693 =K 921,953 140,260 |¥9%A
[ERCAR: 3,916,253 4,073,513 157,260 H4%A
SiSTE
[| sk = 301,210 = 306,424 5,214 PE%A
| BUGE e = 892,441 = 936,203 43,762 %A
— X B X 576,907 =X 599,577 22,670 |H4%H
B TE 1,770,558 1,842,204 71,646 FE%H
&t 5,686,811 5,915,717 228,906 HA%H
Xt eKE (T3 mg) SREEST 11U e 5,686,000 5,915,000 229,000 H4%H
THE RS Y%A 454,880 473,200 18,320 H4%H
AR (TEdE) 6,140,880 6,388,200 247,320 | HY%H
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RETZE EAT RETERR et
"= g B B 2148 g B B o | EUEEE W
I |BETSE
Al B R T 1 X 41,211 1 = 41,211 0
A2 [BEET = 1 K 210,940 1 =K 210,940 0
A3 [NEETE 1 = 1,022,900 1 = 1,039,900 17,000 | HA%H
Ad |BETE 1 K 123,752 1 =K 123,752 0
A5 |FDMTH 1 = 1,049,431 1 = 1,049,431 0
A6 | sy 1 =X 342,114 1] =K 342,114 0
/INEF
7t 2,790,348 2,807,348 17,000 | H4%H
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1 |[fErAEas Rk L5 1 = 432,100 1 = 432,100 0
2 ke /KR L 1 =X 70,873 1 = 70,873 0
3 |HEAKER R T2 1 = 187,690 1 = 318,350 130,660 | HE9%H
4 e e T 1 =K 26,300 1 =X 34,400 8,100 |HE%A
5 | AR E T 1 =K 34,130 1 =K 34,130 0
6 |HEILE 1 =X 30,600 1 = 32,100 1,500 H4%H
/NEE 781,693 921,953 140,260




